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Unit 8 Review

For problems 1-12, decided if the functions are even, odd, or neither.
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Fill in the chart describing the differences in each type of function.
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Equation
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Algebra 1 Unit 8—Comparing Functions Review

Identify the following equations as linear, quadratic or exponential.
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Look at the following tables and decide if they represent a linear, exponential, or quadratic function.
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Use the following graph to answer the following questions:
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Which function is Iizor? Expéﬁenﬁdl? Quofioﬁc?

B

List the functions in order from smallest fo largest based on x-intercepts:
A AC
List the functions in order from smallest to largest based on y-intercepts:
L AR, C
List the functions in order from smallest to largest when x = 2:
A, C
List the functions in order from smallest to largest when x = 5:
BRen
List the functions in order from smallest to largest when x = 9:
A C,B

List the functions in order from smallest to largest when x = 15:

A, B

Algebra 1 Unit 8—Comparing Functions Review

Which functions have a positive rate of change through the entire graph?
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Which functions go towards negative infinity as x goes towards infinity¢
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/’ Which functions go towards positive infinity as x goes towards infinity¢
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Which functions have a negative rate of change through the entire graph?

Which function has a rate of change that can be both positive and negative?




Unit 8.2 Arithmetic and Geometric Sequences Review:

Arithmetic Sequences:

For questions 1-4

1. Give the next 3 terms.

2. Write the CLOSED (EXPLICIT) rule
3. Write the RECURSIVE rule
4
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For problems 6-10, determine whether the following are arithmetic sequences-oi=a ik
Then list the first 4 terms of the sequence.
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11. Count the number of lines creating each figure and answer the questions below:
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Fig1 Fig 2 Fig 3

Complete the table below:

Fig # 0 1 2 3 4 5
# of lines ) % 15 Q| 2 9 ’5 ¢

a. Write the CLOSED (EXPLICIT) and RECURSIVE rule for the number of lines needed to generate
each shape.
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b. How many lines would be used to create figure #20?
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12. Two terms of an arithmetic sequence are a; =15 and q, =22. ¢ I 012 ol Y 3
a. What is the common difference? ¥ e ) D s TR
£
b. What are the first four terms of this sequence?
<[ g g7

c. Write the CLOSED (EXPLICIT) and RECURSIVE rules for this sequence.
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Geometric Sequences

1. Find the third term of the sequence whose first term is 10, and the recursive formulais
a,=15a,_).
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2. Write the Explicit (closed) Formula, and then find the 28" term of the sequence 3, 12,
48,192, ...
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3. Write both the explicit (closed) and recursive formula for the following sequence: 42,
336, 2688,...
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4. Write both the explicit (closed) and recursive formula for the following sequence: 1250,

250, 50, ... Q
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Write the explicit (closed) and recursive formula for a geometric sequence whose 6t

term is 4 and the 7t term is 2. o o ZJZ\\" -1 0\' ~ M8
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6. Write a rule to find the nth term of a sequence whose first term is 12 and the rate is 15.
Db n=\
n - \l ° 5
7. Find the 17 term of the sequence —2,—8,-32,...

C\n‘— ‘20‘_{)«-1
==




